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Elephants Raid the Kitchen

SUMMARY

The extract from the book Elephant Memories: Thirteen Years in the Life of an Elephant Family
by Cynthia J. Moss features Tuskless, an elephant and her companions entering the camp-kitchen
after they got tempted by the smell of bananas and other fruits. They raided the kitchen in such a
way that it was about to blow off.

Day Before the Raid

e Masaku the cook and camp-worker was on a five day leave.
e Phyllis, the narrator‘s camp-mate, had returned from a trip to Nairobi with a huge load of
groceries, meat, fresh-fruits and vegetables.

The Morning of the Raid

e Film-makers Warren and Genny Garst arrived at the camp. They too brought another load of
food.
e The food was stored in the car, kitchen and fridges.

The Raid

e That evening, the narrator, Phyllis and the film-makers went for a dinner. The camp was
totally unattended.

e Leftalone, Tuskless, Teddy, Tonie and Tilly fed on grass.

e Tuskless smelt food and turned towards the kitchen.

e Tuskless rumbled loudly and called her friends to follow her.

e The elephants approached the kitchen.

e Tuskless wrapped her trunk around the sisal pole that supported the kitchen.

e Tuskless got the pole wrenched.

e Tuskless made a sizeable hole in the wall of the kitchen and reached her trunk out in
search of bananas.

e Tuskless felt impatient and started pushing the wall.

e The other elephants joined her.

e The camp collapsed sideways.

e Tuskless entered and the others elephants followed her.

e They enjoyed eating bananas, mangoes, pineapples, papaya and oranges.



They started feeding on carrots, potatoes, tomatoes, avocados, egg-plants, lettuces,
cabbages, cauliflower, etc.

They started lifting the tin trunks and turned them upside down until they disgorged their
contents.

Tuskless was not satisfied. She could smell the bread, cookies and crackers in a wooden
cupboard. So, she knocked it down, smashed it open and ate it all.

The cooler and the smaller fridge was crushed.

The elephants pulled the bigger fridge until it got disconnected from its gas cylinder.
Noxious propane gas started leaking from the cylinder.

The elephants started tackling the other cupboards with jams and spices.

The author entered the scene in her Land Rower car.

The elephants grabbed a last trunkful and started backing away.

Tuskless stayed back for a while because she was reluctant to leave the feast/food.

The author entered the kitchen. Tuskless was finally forced to leave the kitchen.

Grabbing a box of spaghetti (like noodles) and a paper bag full of half-pound garlic,
Tuskless went out to join the other elephants.

After the Raid

Tuskless doesn’t stop raiding camps even after that incident.

She raided as many as three or four camps a day.

Now, she inspects the narrator‘s camp to make another attempt but is chased away by
Masaku.

She is nonchalant / unmoved when Masaku comes oult.

Raids will go on for the elephants.

The Raid — Through the eyes of the Elephants

https://youtu.be/dg4IN4Re {0

QUESTION ANSWERS

Nooabkohde

Who was Tuskless? How was she drawn to the camp?

How had Tuskless developed a taste for bananas?

How did the elephants raid the kitchen?

Getting food out of the tent was not easy for Tuskless. Explain.
What was ‘near ecstasy’ for the raiders?

What did the narrator first do on her arrival at the camp?

Why did the narrator blame herself for the mess?

ACTIVITY

1.

As Tuskless, write a page in your diary describing the feast.


https://youtu.be/dg4lN4Re_j0

2. Your school is organizing a ‘Camping Trip’. As the Head Boy/ Girl, draft a notice
informing the students about the trip in not more than 50 words. Be sure to include
place, dates and fees for the trip.

MATHEMATICS — MS. SHIVANGI
Chapter — Direct and Inverse Proportion

Please watch this video
https://lwww.youtube.com/watch?v=xEFyfLOYdHA

Inverse Variation: Two quantities may change in such a manner that if one quantity

increases, the other quantity decreases and vice versa. For example, as the number of workers
increases, time taken to finish the job decreases. Similarly, if we increase the speed, the time
taken to cover a given distance decreases.

Observe the following table.

Price of each 40 50 60 75 80
book (in Rs)

Number of 150 120 100 80 75
books that
can be

purchased

As the price of the books increases, the number of books that can be bought, keeping the fund
constant, will decrease.

Ratio by which the price of books increases when going from 40 to 50 is 4 : 5, and the

ratio by which the corresponding number of books decreases from 150 to 120is 5 : 4.

This means that the two ratios are inverses of each other.

The product of the corresponding values of the two quantities is constant; that is, 40 x 150 =50
x 120 = 6000.

Two quantities x and y are said to vary in inverse proportion, if there exists a relation

of the type xy = k between them, k being a constant.

Solve the following questions:



Q-1) 6 pipes are required to fill a tank in 1 hour 20 minutes. How long will it
take if only 5 pipes of the same type are used?

Q-2) There are 100 students in a hostel. Food provision for them is for 20
days. How long will these provisions last, if 25 more students join the group?

Q-3) If 15 workers can build a wall in 48 hours, how many workers will be
required to do the same work in 30 hours?

Q-4) A group of 3 friends staying together, consume 54 kg of wheat every month. Some more
friends join this group and they find that the same amount of wheat lasts for 18 days. How
many new members are there in this group now?

Q-5) A car takes 2 hours to reach a destination by travelling at the speed of 60 km/h. How long
will it take when the car travels at the speed of 80 km/h?

Q-6) A factory requires 42 machines to produce a given number of articles in 63 days.
How many machines would be required to produce the same number of articles in

54 days?

Q-7) A farmer has enough food to feed 20 animals in his cattle for 6 days. How long
would the food last if there were 10 more animals in his cattle?

Q-8) A batch of bottles were packed in 25 boxes with 12 bottles in each box. If the same
batch is packed using 20 bottles in each box, how many boxes would be filled?

Activity based Questions:

Q-1) If a box of sweets is divided among 24 children, they will get 5 sweets each. How
many would each get, if the number of the children is reduced by 4°?

Q-2) Give 5 examples of pairs of quantities that vary in inverse proportion.
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Chapter 2 - Microorganisms: Friend and Foe

MICROORGANISMS

* Definition: living organisms around us which cannot be seen by naked eyes is called microorganism or
microbes. We need a microscope to see microbes.

TYPES OF MICROORGANISMS:

There are five major groups of micro-organisms. These are classified as:
1. BACTERIA

2. ALGAE

3. PROTOZOA

4. FUNGI

5. VIRUSES

1.1) bacteria:

* Mostly single celled organism.
* Lived together in colonies of millions.
* Found in basically 3 different shapes:
» Rod shaped(bacilli)
» Spherical shaped (cocci).
» Spiral (spirillia).

Rod shaped(bacilli) Spherical shaped (cocci) Spiral (spirillis)



2.2) algae:

 Simple plant like structure organism.
s Aquatic in nature.

s |t can be unicellular or multicellular.
« Ex: chlamydomonas, seaweed, diatoms.

3.3) protozoa:

e Unicellular microorganism.
* Mostly aquatic in nature.
* Ex- amoeba, paramecium etc.

Cytoplasm call membrane

\ . eytoplasm pushed
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* Plant like organism that do not contain chlorophyll
* Can be unicellular or multicellular. Ex- yeast, rizopus etc.

4.4) fungi:

Bread Mould Penicillium

Azpergillus



5.5) viruses:

* Smaller than any other known cell.
* |t can reproduce only inside living bodies, means they need a host.
* |tisaborderline between a living and non living thing.

%

HIV Hepatitis B Ebola Virus

!

Adenovirus Influenza Bacteriophage




FRIENDLY MICRO-ORGANISMS
USES

* Used in preparation of curd, bread and cake.
o Used in cleaning up of the environment by degrading dead and decay substances.
o Used in increasing soil fertility by fixing nitrogen.

MAKING OF CURD, CHEESE AND BREAD
Bacterium lactobacillus promotes the formation of curd. It multiplies in milk and converts it into curd.

Bacteria convert the natural sugars in milk into lactic acid. Different flavour of milk is due to different types
of bacteria used.

Yeast : used in making cakes and bread. Bakers add yeast to dough to increase its volume by filling the gap
by bubbles of carbon dioxide produced by yeast.

COMMERCIAL USE OF MICRO-ORGANISMS

» Used for large scale production of alcohol, wine and vinegar (acetic acid).
» Yeast is used for commercial production of alcohol and wine.
» Fermentation- the process of conversion of sugar into alcohol by yeast is known as fermentation.

MEDICINAL USE OF MICRO-ORGANISMS

Antibiotics : these are the medicines that are used to treat infections caused by other bacteria and certain
parasites. Antibiotics are produced by the help of other bacteria.

Example: Tetracycline, streptomycin, penicillin, erythromycin etc.



INCREASING SOIL FERTILITY

* Bacteria and blue green algae are able to fix nitrogen from the atmosphere.
* Enrich the soil with nitrogen and increase its fertility.
* These microbes are called as biological nitrogen fixers.

CLEANING THE ENVIRONMENT

* Micro-organism converts dead and decaying part of plants and animals into manures.
* [t decomposes organic waste into simple substance.
* |t degrades the harmful substance and cleans up the environment.

CHP- MICROBES FRIEND AND FOE

Assignment -1

What are microorganisms or microbes?

Give two examples of microorganisms.

Name two multicellular Microorganisms.

What are the two types of Microorganisms on the basis of their functions?
Who discovered the antibiotics?

What is vaccine?

What do you mean by vaccination?

Name the pathogen of anthrax.
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Where do Rhizobium bacteria commonly live?
Edward Jenner in 1798.
. Which is the carrier of dengue virus?
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. What do you mean by food preservation?
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. Who discovered the antibiotics?
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Name a popular vaccination programme.
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. Where do Rhizobium bacteria commonly live?

Study Notes Geography MS. NIDA




Chapter 2

Natural Vegetation and WildLife

e Natural vegetation and wildlife exist only in the narrow zone of contact between
the lithosphere, hydrosphere and atmosphere that we call the biosphere.

e In the biosphere living beings are interrelated and interdependent on each other
for survival. This life-supporting system is known as the ecosystem.

e Wildlife includes animals, birds, insects as well as the aquatic life forms.

e The birds feed on insects and act as decomposers as well.

e Vulture due to its ability to feed on dead livestock is a scavenger and considered
a vital cleanser of the environment.

Distribution of Natural Vegetation

e The growth of vegetation depends primarily on temperature and moisture.

e The major vegetation types of the world are grouped as forests, grasslands,
scrubs and tundra.

e In areas of heavy rainfall- Huge trees thrive- forests are thus associated with
areas having abundant water supply.

e As the number of moisture decreases- the size of trees and their density
reduces-short stunted trees and shrubs grow in regions of moderate rainfall.

e Indry areas- Thorny shrubs and scrubs grow in low rainfall areas.

e Tundra vegetation of cold Polar Regions comprise of mosses and
lichens.

e Evergreen and deciduous are the types of forests depending upon when
they shed their leaves.

e Trees of evergreen forests do not shed their leaves simultaneously in
any season of the year.

e Deciduous forests shed their leaves in a particular season to conserve
loss of moisture through transpiration.



e In India mostly Evergreen and Deciduous forest are found which are the
rich source of timber and forest produce.

e In Himalayan region of India mixed forest are found according to their
altitude. such as taiga, evergreen forest and deciduous species are
found

Factors responsible for the process of extinction of great natural
resources.

« Plants give shelter to the animals and together they maintain the
ecosystem.

« Changes of climate and human interferences can cause the loss of
natural habitats for the plants and animals.

« Poaching is one of the major concerns which results in a sharp decline in
the number of particular species.

« The animals are poached for collection and illegal trade of hides, skins,
nails, teeth, horns and feathers.

« Due to indiscriminate killings, several birds and animals have either
become extinct or are on the verge of extinction.

Measures for Conservation of Natural Vegetation and Wildlife:

« To protect our natural vegetation and wildlife, national parks, wildlife
sanctuaries and biosphere reserves are made.

« Awareness programs like social forestry and Van-Mahotsava should be
encouraged at the regional and community level.

« Itis the ethical duty of every citizen to conserve plants and animals.

o Under Article 48A of the Indian constitution forest conservation has
made a directive principal.

« Inclusion of forest and environment in constitution make the
government of India liable to take the steps in this direction.

Video Link




https://www.youtube.com/watch?v=wkFtBFW5Auk&feature=youtu.be

https://www.youtube.com/watch?v=4sccEJ-2uvk&feature=youtu.be

https://www.youtube.com/watch?v=r89t) SD53M&feature=youtu.be

https://www.youtube.com/watch?v=J1kcKAfUiso&feature=youtu.be

Assignment

State whether the given statement is true or false.

1) Ganga-Brahmaputra plain of India is an overpopulated region.

2) Water availability per person in India is declining.

3) Rows of trees planted in the coastal areas to check the wind movement
is called intercropping.

4) Human interface & changes of climate can maintain the ecosystem.

Tick the correct answer

1) Which one of the following is NOT a factor of soil formation ?
l.  Time.
ll.  Soil texture.
l1l.  Organic matter.
2) Which one of the following methods is most appropriate to check soil
erosion on steep slopes ?
l.  Shelter belts.
ll. ~ Mulching.
lll.  Terrace cultivation.
3) Which one of the following is NOT in favour of the conservation of
nature ?
l.  Switch of the bulb when not in use.
ll.  Close the tap immediately after using.
lll.  Dispose polypacks after shopping.

Questions & Answers (Short Unsolved)

a) What is an ecosystem.
b) Define the term Biosphere.
c) What is poaching.

Long solved



https://www.youtube.com/watch?v=wkFtBFW5Auk&feature=youtu.be
https://www.youtube.com/watch?v=4sccEJ-2uvk&feature=youtu.be
https://www.youtube.com/watch?v=r89tJ_SD53M&feature=youtu.be
https://www.youtube.com/watch?v=J1kcKAfUiso&feature=youtu.be

1. Name the steps that government has taken to conserve plants &
animals.

Ans.

| Setting up of National parks, Wildlife sanctuaries,Biosphere reserves.
[I. Conservation of Creeks, Lakes & wetlands.
lll.  Ban on Killing, Hunting & Poaching.
IV.  Social forestry & Vanamohatasava.
V. ltis the ethical duty of every citizen to conserve plants & animals.
2. How are forests classified ?

Ans .

|.  Forests are classified on the basis of when they shed their leaves
as ‘evergreen’ & “deciduous”.
ll.  Evergreen forests do not shed their leaves together in any season.
lll.  Deciduous forests shed leaves in a particular season to conserve
moisture.
IV. These forests are further classified as tropical or temperature
based on location in different Latitudes.

Activity:
e On an political map of India mark the following using symbol (e).
a) Kazi ranga national park.
b) Dachigam national park.
c) Corbett national park.
d) Gir national park.

e) Simlipal national park.

Ruling the Countryside ( HISTORY ) MS. POONAM PATHAK

You Tube Link: https://www.youtube.com/watch?v=PKv0dXiRuY]



https://www.youtube.com/watch?v=PKv0dXiRuYI

Activity: Draw flow chart on land revenue system or the three
settlements along with their main points that was introduced by the
British East India Company(BEIC)

The Company Become the Diwan

The East India Company became the Diwan of Bengal, on 12 August 1765. As Diwan, the Company
became the chief financial administrator of the territory under its control. The Company needed to
administer the land and organise its revenue resources. It needed to be done in a way that could
yield enough revenue to meet the growing expenses of the company.

Revenue for the Company

The Company’s aim was to increase the revenue to buy fine cotton and silk cloth as cheaply as
possible. Within a span of five years, the value of goods bought by the Company in Bengal doubled.
The Company, before 1865, purchased goods in India by importing gold and silver from Britain. Now
it was financed by the revenue collected in Bengal. Artisanal production was in decline, and
agricultural cultivation showed signs of collapse. Then in 1770, a terrible famine killed ten million
people in Bengal.

ASSIGNMENT( WORKSHEET)
1) Match the following:

Ryot Village

Mabhal Peasant

Nij Cultivation on ryot’s lands

Ryoti Cultivation on planter’s own land
Answer.

Ryot Peasant

Mahal Village

Nij Cultivation on planter’s own land
Ryoti Cultivation on ryot’s land

2. Fill in the blanks:

(a) Growers of woad in Europe saw as a crop which would provide competition to
their earnings.

(b) The demand for indigo increased in late eighteenth-century Britain because of

(c) The international demand for indigo was affected by the discovery of



(d) The Champaran movement was against
Answer.
Answer.

(a) Growers of woad in Europe saw Indigo as a crop which would provide competition to their
earnings.

(b) The demand for indigo increased in late eighteenth-century Britain because of the expansion of
cotton production.

(c) The international demand for indigo was affected by the discovery of synthetic dyes.

(d) The Champaran movement was against indigo planters.

SANSKRIT = MR. SANJAY CHAUHAN

https://youtu.be/cQLCxcZXtSw



https://youtu.be/cQLCxcZXtSw
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